(A2

5
110
__c_=_ ol A
of < < K (-
- o 5 2 gy
= o n 2 222 :
g < KO - > &8 = 0
: - F ojn w_mﬁ : <
of | M =z m 20 =
z B U F _
o T ol ol o o A
2119 L nd ~
< K = = N
i =~ 2 < - n
o M .nn 0
R H o i
mo K0 %0 I S d o S K
U o .ol - SR H |
10 __ I _E_E of T ol : K - - .A__._
5. %! Ol < om0 T S K _A_n
10 fol o ol < 2 J o o - g
ol W Th¢ Tariah g ® Ok
ERE- T q A
8500 & U 80w 5 T, o R H
20 20RO s o K
— ol _ V=Y T o KT
S 2 Son = g © <4 =
—_ __O*ﬁ —_ _-A _A I-ID - —_— : —_
n- WAl g T J 2 = =
4o ME . o R o K M : o o
ITe} 1o MU_. n -z = . J|=
ST o ol_mx_._m i = ROop K Or of = @._.._ B i
- R K Rp B =0l oy %m.u_n.u%xl_.__m =
S = o ol gy HI 10RO X obQog e =N A
%0 ok o ™ T = " {0 <
O O O O O O Ho O O
W“A







-1
AR M At E 2. 35
AR A 2 FEe Folw 5 Aple] Fol g Aol fay=1® O=e<l)
. T 12 27T 1<z <2)
L @5 fla)=" o alel 72 | oo oA} olE @
12 off tiate] A& 7k (0, 2) oA A= 3=
9= [ 1@ =t de
O xr
7V t=kelA e derh WA fo) =k A3 gla) = / ) | fla)—f(t) | dt
HEE a2t & u), o'(1)+1n|—+1]9 S T
o] St FEgke] AL ac+bVe? oItk (ab)* <)

(2019 AbEstaL 7430 AIRHAIZE 12:8) TR (5 a, b= frElelth) [44]

1954 % 39 2237k GhE 308 A7 1238




0
12

m
o2t

B fle)=atet ol WEte] x> 004 A9

o= [ 1 0-tela

t o=l SR 2k

TRl (FA A A

l":‘—t

?‘ﬂ-/\]

R

i

kxefd o 16k%9] 7

8

Mo

)




= A=
e
Auty AlDTA (2| <A

12
Y oo
12

e

B )= ol Asted 72

7b t=kelA S53E Zdeth WA

- - , 6
H53S a2t @ 1, <1>+1n(5+1

Off

(2019 AFHEks 7130 AlgHA 7 123)

g(t)< g(t+h)
g(t)> g(t+h)
g(t)
> <
. lim =
h—0+
(1): g(t)= 283} 7o) AAZF Gl yloJolr} lim
h—0+
y=1 6
T
b=—=
e
= ~b—a=6, b=a+6

fla)=f(a+6)
a a+6 at6

— €

6a 6a+6 ’ a

ln(g-i— 1/=1ne® =6
a

o a+6 12




m
o2t

5} Qo

(iI)o<z <1

sz(t)
e é y=f(x)

[ 15w dr
0 x y=flz)
%3ke] A& ae+bi/e ook () ghe (=0  g)=e— / et
FaAL. (% 0, b feldoleh) (4] o
) w7} (ha 309 AFATE 123) (i) 1< <2
Y

0 h t<t+h

. lim =
h—0+

r=2%x(2—2) .=

| i

[\

22 1 2 2
: /363—etdt+2/26t—63dt =2 —3e’ +1
O i
3




SAS5] A5 A
=T3S st 99y
M A SHe AT (1): gt)= 213} 7] A7 dole] Yololek
y=1
T Sl =0 sl T2 (=5 oo follA] Aol =t
12 v==k
t)= —t|d.
o) = [ lr@—tlde
7]— t:k"ﬂ/\i '%L‘é:‘%)}% 7z%‘ .(2) Ho]'xé]&l f($>:k‘g] /\E]EL‘Q]
A%qhe avh @ W, o'+ 1|9l g oA ; 2
(2019 AbEekaL 7130 A|jHAIZE 1238) Q2): fla)=—=ze ", fl@)=0—x)e "

g’ (1)=12
) 1—2<t<l
27 T e
f(x)zt a, b (a<b) (a, t
/\ .
—y = f(z)
a

b
o) = [t=rna+ [ oo [
—/12 ))dx+2 (f t)dx

12 12 b b
—t/ dx— f )dx+2 f(x)dx— 2t dx

db db da

g () =120+ 276} ~2f0) S =206~ a) ~20( T~ 1)




6 48t 940f g+
Nﬁ(t)
ki : y=r(x)
e’ o<z<vy | L/ \
f(x):{ 2—x g— ﬂ :
e (1<2<2) L
A dsto] FATLE (0, 2l AR B o =1 2z
0<t<uz , flx) = f(t)
o@)= [ 1) s ar = [ 1@ )1 = / (@)= /@) Ya
o Fuigksh F4k] AL ae+ bV oleh (S e R :[ @ =el], v
Fee. (= a, b Felsoleh) [43] e e
(193hd= 39 2937k (7hF 30w AFHAZE 123) y
N:f(t)
e ” : y=f()

J, v }dt_Q/ o e
_2/ v)dt —2[ Q2 g2 i

=2 —2ze’”
g@)= (1—2)e? " +142¢—2ze
=(1=3z)e* * +2e+1

(i), (i)

(x—l)e +1 O<z=1)
gla)=
(_3$ “+2e+1 (1<$<2)
0<x< 1)
(3zx—4)e (1<z<2)
( )=g(1)=(1—1e+1=1
5 2
( ):g(%):(1—4)e3 L 9et1=92¢—3¢3 11
g9(x)
2
1_(26_363+1> —2e+3e? :—26+3f




SAS] ASE A
=TS Tt Y
-1 1
HAlSt= AlZTY gla)= f | /@)= ta|dtol A
0
dto| P2 t= stod 2 =ZE a8 FA y=f(¢
4 fla)=a%" tsle] x> 004 HoJH < 1=2 15l A5 29 124 y =)
y=tz® Qe HxE Fafof g}
1 — 42t = 75 1z A1 — 2 Enp
g@)= [ |ft)—ta|dt fO=teell wate] ¢ A Y flO)=teF EH
el =tr = tel =gz oA
vl Alol Al 1S 4= 5}
= o—aold 3E etk a—kxebed W, 162 S #4] t=ker SR (0<k<1),
TIA L. (74 2= AIgHAIZE 8%) keb =25 WEA7|IL (k+1)e" 2%014.

k
@ glo)= [t Ot /klf(t)—txdt o3,

k 1
g(x)Z/ tx—thtdt-i-/ t?e! —tx dt
0 k
T k T 1
= [—tQ—(t2—2t+2)et} + [(t2—2t+2)et——t2
2 o 2" ],

= ol — (2 —dk+4)et +2e— T & derh

g(x)zku—<2k2—4k+4)ek+2+e—% o] ofmj e
zoll Wate] vlEatdd
()= 1+ 2 B ()t L
¢ (x)= 1 +2zk . (212)e p
vdk 1,
=k2+2k<x—kek)a—§, ket = golm 2
=k — L
g @)=k~
gw)= ngﬂW FHE 2 kef =022,
vz
2 —_
9(x)= x=%e A Szt
8




8

4>

7R o = 2tA|

o
02
e

m
o2t

oS WA E3lo = Aagley =Aste] FAT

4. A% AR AP HeF B4

f(x):_GQfaz_i_l’ g(SU): 6:1:+a+1

o Wste] LE A% goll thate] 154

fl@)<me+k < glx)
I

13 me] 3] W7F 0 <m < ha)Q o,

2
q o
BA q%‘ 4%‘:]' _39/] %}ET——!

Y

3145,

3




x A0 AIFE7| HIHX] EXIE "I1X| DA L.




